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Dividing the whole table data into smaller chunks and storing them in different Data
bases in the Distributed DBMS is called -

a. Data replication b. Data fragmentation

¢. Data decentralization d. Network transparency
Rollback is used for __________operation in a transaction.

a. Commit point b. Redo

¢. Undo d. Savepoint

The in DBMS, as the name suggests is a relationship between
attributes of a table dependent on each other.

a. Functional dependency b. Transitive dependency

¢. Multi-valued dependency d. Join dependency

At phase of query processing, the query compiler translates the query
specification into an executable program.

a. Compile-time b. Run-time

c. Optimizer d. Execution engine

DML is provided for:

a. Description of logical structure of database

b. Addition of new structures in the database

¢. Manipulation & processing of database

d. Description of physical structure of database system

In an ER Diagram, foreign key is represented by:

a. Oval b. Dotted oval

¢. Dotted underline d. Solid underline

The in DBMS also known as Optimistic Concurrency Control
Technique is a method to avoid concurrency in transactions.

a. Lock-Based Protocol b. Validation based Protocol

¢. Two Phase Locking Protocol d. Timestamp-Based Protocol

“A relation that is in First Normal Form and every non-primary-key attribute is fully
functionally dependent on the ____key, then the relation is in Second Normal
Form.”

a. Candidate b. Super

c. Foreign d. Primary

The time taken to position the read-write head over the required track or cvlinder is
called .

a. Rotational latency time b. Seek time

¢. Sequential [/O time d. Random I/O time

If A->B and B->C are two FDs then A->Ciscalled ~ dependency.
a. Functional b. Fully functional

c. Partial d. Transitive
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